
  
 

 

 
 
 
 

BC.Q404.REVIEW ASSESSMENTS 
(Part 6)  

CH 9 (REVISITED) – Sequence and Series 

(20 points) 
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DATE: 
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I (print name)_________________________________ certify that I wrote and fully understand 
all marks made in this assessment.  I did not write anything that I do not understand.  I would 
now, having completed this assessment, be able to make similar (but equally accurate) responses 
if asked complete the same exact assessment on my own.   
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1.  Let f be the function given by 





 +=

4
5sin)( πxxf , and let P(x) be the third-degree Taylor 

polynomial for f about 0=x . 
(a) Find P(x) 
(b) Find the coefficient of 22x in the Taylor series for f about 0=x . 

(c) Use the Lagrange error bound to show 
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(d)  Let G be the function given by =
x

dttfxG
0

)()( .  Write the third degree Taylor polynomial for G 

about x = 0. 
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3.  Let f be the function given by 
2

)( xexf −= . 
A.  Write the first four nonzero terms and the general term of the Taylor series for f about 0=x . 

B.  Use your answer to part (a) to find 4
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C.  Write the first four nonzero terms of the Taylor series for  −
x

t dte
0
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 about 0=x .  Use the first 

two terms of your answer to estimate  −
2/1
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dte t . 

D.  Explain why the estimate found in part (C) differs from the actual value of  −
2/1
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dte t  by less 

than 
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